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= 123,245
= 15,846
i 36,973
- BEY 200,000 x23|+*20H 8,000
= 5,600
= 720
= 1,680
QPSEP Falsll 191,250 x 123 2,295
= 1,607
= 205
= 483
N HASREZS 7,800 7,435 365
= 5,460
= 703
= 1,637
O=HIEZ AL 0
2 FALEBEHZ 1,680 1,434 246
O=HIBZAIS 1,680
—2RIHA22XH(1Y)
140,000 *12&*1H 1,680
= 1,176
& 151
= 353
M SRAE(RINHS) 22X 28282 S 6,120 1,260 4,860
O=HIETAL 6,120
—NEMTEEH (1Y)
100,000& *12&+1H 1,200
= 840
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SH: FRIH=T;
B ONSANLUNASEX R
CHol: GIAIOIALSI B OIZH 2RI R OL R B A (Srol: 22)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 108
z 250
—20013 ¥ ENNYI(1)
410,0003x 12«1 4,920
= 3,444
= a4
= 1,032
307 elzto| & 350,000 300,000 50,000
= 245,000
& 31,500
= 73,500
11 AMEISXAEEXS 350,000 300,000 50,000
O=HIE2 XA 350,000
—3RNEISUHE 350,000,000 350,000
= 245,000
= 31,500
= 73,500
ROIESAA 6,330,432 5,852,136 478,29%6
= 2,890,957
= 1,941,453
= 1,498,022
SFuAE el2dl X 2,102,8% 2,155,764 /52,869
= 1,061,447
& 525,724
Ea 525,724
307 lztol & 2,102,8% 2,155,764 A\52,869
= 1,061,447
s 525,724
s 525,724
10 Al SXAEEE 22X 2,102,8% 2,155,764 /52,869
O=HIEXAIY 2,102,8%
—=38 g2 oelojz(s4d)
2,075,592,000& 2,075,592
= 1,037,7%
< 518,898
[Ea 518,898
—ARIAEE WMAH1Y) 17,459,000 17,459
= 8,729
== 4,365
[Ea 4,365
—Z0HOLS & WAH2E) 9,844,000 9,844
= 4,922
== 2,461




2N Fo#=D
Mo HASSILUNASEXE
&2l ROIESXA (SH &)
SN - B S(BH) - HPAY - BAS ol by G o HDS2
| = 2,461
22D H2MA K2 (2H]) 208,627 700,398 AM0,771
= 149,313
[ 74,657
= 74,657
307 2I2+0| & 298,627 709,398 A410,771
= 149,313
[ 74,657
@ 74,657
10 AFBIZ XA M E29H X 208,627 700,398 AM0,771
O=HI 2 EALS 208,627
—CHIIAN KR S2(602)
208, 123,000 208,123
= 101,561
[ 50,781
= 50,781
—=EYUSDA SE224(70Y)
95,504,0008! 95,504
= 47,752
[ 23,876
2 23,876
EXWAF, HAIDAF K2 418,062 0 418,062
= 209,030
[ 104,516
= 104,516
307 2I2+0| & 418,062 0 418,062
= 200,030
[ 104,516
@ 104,516
10 AFBIZ XA M E29H X 418,062 0 418,062
O=HI 2 EAYS 418,062
—SBXAF QIAHI(13Y)
172,199,000 172,199
= 86,099
[ 43,050
= 43,050
— IR MUDAF Q12| (158)
202,964,000 202,964
= 101,482
[ 50,741
2 50,741
—CHRITAF ©124H1(32) 42,899,000 42,899
= 21,449
[ 10,725

®




SN FoIE=D
BH: GlESSNLUNASEXE
Chel: AR0IE2EX (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| = 10,725
SN HLME XA (<) 55,605 49,305 6,300
== 9,921
[Ea 45,684
307 212+01& 55,605 49,305 6,300
< 9,921
s 45,684
10 Al SXAEEHE2EHI2x 55,606 49,305 6,300
OEHIEXZAS 55,606
—H2XE He0lE (2H2eHd)
35,405,000& 35,405
=S 7,081
s 28,324
—H=R0IX& 02018 (EII0IE)
40,0003 x2E« 123 960
== 192
= 768
—Z 20X O0IE (EIHSSAC)
90,0008 +x3& * 122 3,240
=S 648
s 2,592
—O2l01d SALL AR==E(1008)
80,0002 x100& *23] 16,000
= 2,000
= 14,000
SNEA HRME XIS (XHH) 25,960 27,400 21,440
307 el2to| & 25,960 27,400 1,440
10 Al SXAEEHE 22X 25,960 27,400 1,440
OEsuAE XML 18,960
—Jt30201d 60,0002 38 * 122 2,160
—=3E - H200lE
20,0003 x70E «12& 16,800
OEsuWAE sHAISIHI
50,0002 %140 7,000
012018 W& Eu=s 1,156 1,344 A188
= 578
= 289
[Ea 289
301 LEetE N = 1,156 1,344 A188
= 578
== 289
= 289
14 IIEt2 83 1,156 1,344 A188
O=HIE2XZAS 1,156
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2A:
T ZH -
o e

=aak

CFB SIS - MRAY - BES

Ofl &F2H

HMEE
Ofl &k2h

HoH W

19,000
9,500
9,500

MW

8,640
4,320
2,160
2,160

7,900

740

8,640,000

Mo W

8,640
8,640

8,640
4,320
2,160
2,160

7,900

740

307 212t01&

MW

29,360
14,680
7,340
7,340

40,000

210,640

10 AlZISXAEHE2EHIEX
O=HIETAL
s

—AZHES S2ZHI(1DHL)

29,360,000

HoH W

29,360
29,360

29,360
14,680
7,340
7,340

40,000

210,640

Ol

201 2SN (DI B-H)

HoH W

6,154
3,077
1,539
1,538

3,320

2,834

307 212+01&

MW

6,154
3,077
1,539
1,538

3,320

2,834

10 Al EXAISHE2HHI B X
O=2HIBEAIY
— W PHl X2 (100HA)

6,154,000&

HoH W

6,154
6,154

6,154
3,077
1,539
1,538

3,320

2,834

Mo W

29,94
14,977
7,489
7,488

32,368

N2,414
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FA: o=
M Hds=EHLLHMASSAH o
&2l ROIESXA (SH &)
MEE =>4
2 - - BA(EA) - HAY - BYS ot &4 e HRE
< 173
s 173
0l2l01E Fotet 2Za4dst X 2,173 2,173 0
S 652
= 1,521
307 212+01™ 2,173 2,173 0
S 652
ia 1,521
10 MeISXAEHE2EHIEX 2,173 2,173 0
OZHIE XA 2,173
—HR0IX& Heold Sotet 2HEHst
Xl (3048t) 2,173,000& 2,173
< 652
s 1,521
o201y & - Hedl X 467 467 0
S 140
i 327
307 212+01& 467 467 0
S 140
ia 327
10 Al SXAZEHE2EHI2x 467 467 0
OZHIEXZAY 467
—JIEOE0IE (1H4) 467,000 467
S 140
[ia 327
0lgloly 28 s X 2,270 2,210 0
S 1,135
= 1,135
307 212+01& 2,270 2,270 0
< 1,135
T 1,135
06 2= 2,270 2,270 0
OZHIEXZAIY 2,210
—0UEoly AHEEE=(30Y)
2,270,000& 2,270
S 1,135
fia 1,135
OEl0ld FHAIR elAdl X2 31,680 31,680 0
S 6,336
T 25,344
307 212t01& 31,680 31,680 0
< 6,336
s 25,344
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SN FoIE=D
BH: GlESSNLUNASEXE
Chel: AR0IE2EX (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 AlRISXIAIEEE 22X 31,680 31,680 0
OEHIEXZAS 31,680
—BOHAC) 01 RI0I T (BHLHR)
31,680,000& 31,680
=S 6,336
s 25,344
I=0tE=XA 279,000 283,800 24,800
201 2= 3,600 3,600 0
01 At2t2lt] 3,600 3,600 0
OBYRESYMARS FH4T
100,000 12E *32] 3,600
202 04l 2,400 2,400
01 =LHOHI 2,400 2,400
ONglold & otsAld NEEZ O]
20,0003 x2& »60! 2,400
301 EtE NS 2,400 2,400
11 AALRHIXIRS 2,400 2,400
OE=sWAZ stitSHA
60,0002 ~40& 2,400
307 elztol & 270,600 275,400 24,800
04 QIZHHAMAMH 2 & 9,000 9,000 0
OO0l R0t =AZ SH
6,000,000& *12] 6,000
OPSWAY ARss DS
3,000,000& %12 3,000
10 MBS XAl HH 2P| 2 261,600 266,400 4,800
OOfRI01F OIS 2AlH| X2
20,0002 *430E « 122 103,200
OOIZOIE SXDAI Q124H| N2
1,200,0002 x4 =122 57,600
O0E0Id 2HIIAL QI2H] I
500,000 x 12« 122 72,000
OOZ0ld W=l X2 12,000
—& & 1002 Ol&f
2,000,000& * 1 A*13] 2,000
—& & 50~1002! 1,500, 0002 x20 %13 3,000
—&& 50e! olat
1,000,000 74 2=*13] 7,000
Oolglold 371880 dg(2el)sl X
20,0002 «70CH* 12& 16,800
22320 (Hot=+E) XA 825,845 234,920 530,925
= 536,799
= 144,523
= 144,523
301 EtE NS 825,845 234,920 590,925




SN FoIE=D
B OHSANLUNASEXR
=?el: ER0IESXH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 536,799
=S 144,523
s 144,523
01 Al E2E AL S(FRDEXH) 825,845 234,920 590,925
O=HIE XA 825,845
—2230{(g0t+=<) X
825,845,000 825,845
= 536,799
== 144,523
o 144,523
SSALoZetHE 71,040 221,000 149,960
ololdadie 30,000 20,000 10,000
401 Al HIZL 2018 30,000 20,000 10,000
01 Al&H| 30,000 20,000 10,000
O=&E el aZHd
15,000,000 *29H 2= 30,000
24M12t OlEl0lE 28 X3 41,040 36,000 5,040
307 @20l & 41,040 36,000 5,040
10 Al SXAZEE 22X 41,040 36,000 5,040
OLHES(UARIER) XA
3,420,000« 128 *12] 41,040
RESSTHE X 5,031,430 4,629,393 402,037
= 1,241,701
[ 205,562
Jl 27,300
< 631,464
[Ea 2,925,403
OLSSXI&ALKIE 35,500 36,500 0
301 LELE NS 4,500 4,500
11 dAMEEIXIZE S 4,500 4,500
O0tS?E WssES 2o
60,0002 x 152 +33] 2,700
Oo0ts?IaEelal =izl ot 24
60,0003 » 15 #22 1,800
307 21201 & 31,000 31,000
04 QIZIHAIAIH E X 25,000 25,000
O0lglolg J18dAL XI¥ 25,000
—0i2lole A =23
20,000,000& *13] 20,000
—0loly gl 5,000,000& 12 5,000
1 AMISXAIEEXE 6,000 6,000 0
OAlZ0ts Al2ldE Z2™
6,000,000& 12 6,000
MNASEOLS XA (XHAI) 53,000 50,000 3,000
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SN FoIE=D
BH: GESSHLUNALSEHE
tel: QESOISXE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 4,400 4,400
01 AlR2teldl 4,400 4,400
OOIE=XAISIAS| EA ST
100, 0008 +524x23] 1,000
OBYR OISDASRE HASY
100,000 5 »23] 1,000
ONASZEoIn 319 &HA4g
100,000& »2& =22 400
OXNS==EoM 28223 NS
2,000,000& 2,000
301 EetE2 NS 48,600 45,600 3,000
02 MBI 2HHSHS(HAAS, XNLHE) 48,600 0 48,600
OIS ?EMU 2SI
200,000 %12 2,400
OIHHSIE0S LS|
350,000 x11E«12& 46,200
OtSsAIXEH 403,200 288,000 115,200
= 40,320
[Ea 362,880
307 gl2tol & 403,200 288,000 115,200
=S 40,320
s 362,880
1 AMISXAIEEX 403,200 288,000 115,200
OZHIE XA 403,200
—OIE - YEE SAI(4008)
403,200,000 403,200
= 40,320
= 362,880
OtSSAXIA (<) 243,200 182,400 60,800
=S 243,200
307 glztol & 243,200 182,400 60,800
= 243,200
11 ARRIS XA E X 243,200 182,400 60,800
OZHIEXZAY 243,200
—8DIE E. 374 SAX2(3209)
243,200,000 243,200
= 243,200
Ol AIE =224 1,000 1,000 0
= 700
=S 0
s 210
201 fet=3| 1,000 1,000 0
= 700
&< 0
Ea 210
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SN FoIE=D
ZH: OESANLAHLSERR
&el: RESOISAEX (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
01 At2t2ltl 1,000 1,000 0
O=HIE2 XA 1,000
— XXM A =2 (2 2])
1,000,000& 1,000
= 700
= 0
s 210
Ors+=€XI& 1,239,534 1,351,817 A112,283
= 867,674
= 111,558
[ia 260,302
301 LENZ 1,239,534 1,351,817 A112,283
= 867,674
< 111,558
s 260,302
01 Al EEAGZ(2DEZME) 1,239,534 1,351,817 A112,283
O=HIE XA 1,239,534
—O0tES==&(1,038%) 1,239,534,000& 1,239,534
= 867,674
< 111,558
s 260,302
OlSLFAIE2E R 1,479,230 1,455,230 24,000
307 212t01™ 1,479,230 1,485,230 24,000
10 MEISXAIEHE2EHIEX 1,479,230 1,455,230 24,000
Oots2=AIE 2EH(8eE2sR)
1,479,230,000& 1,479,230
OlSZEXEAHE AXSHHBLEE R 9,884 93,390 1,494
= 66,420
= 14,232
[Ea 14,232
301 2N = 94,884 93,390 1,494
= 66,420
= 14,232
= 14,232
01 Al EE A S (2 REXMR) 94,884 93,390 1,494
O=ZHIEXZAIY 94,884
—Oots2E XAAF X (1028)
94,884,000 94,884
= 66,420
= 14,232
Ea 14,232
YAotSHEX A (LFE) 34,300 24,300 10,000
Jl 24,010




2A:
X XH -
o e

=aak

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

H

10,290

M

34,300
24,010
10,290

24,300

10,000

200,000& x14F 123

—=HI U2 XX 700,000 %12

34,300
34,300

33,600
23,520
10,080
700
490
210

24,300

10,000

4,700
3,290
1,410

1,000

3,700

in

4,700
3,290
1,410

1,000

3,700

2,000,000 +1H

2,700,000 *1H

H

S~

in

4,700
4,700

2,000
1,400
600
2,700
1,890
810

1,000

3,700

OSSR WAL IHA (AtSI M LTt X&)

Mo W

101,027
50,513
20,206
30,308

95,890

5,137

HoH W

96,345
48,172
19,269
28,904

91,524

4,821

03 BRA(RIHY)22NHE S

A
WAL QIAHI (540A1241Y)
24,132,000&

04 JIZtNZ22 NS+

Mo W

24,132
24,132

24,132
12,066
4,826
7,240
72,213

22,980

68,544

1,152

3,669




SN FoIE=D
BH: GESSHLUNALSEHE
tel: QESOISXE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=HIE XA 72,213
—OHSSXI WAL Q1248 (F25A12H4%)
72,213,000 72,213
= 36,106
= 14,443
s 21,664
M A=FLSS 4,682 4,366 316
= 2,341
= 937
= 1,404
4 SR (RIHA)22N BEERES S 4,682 651 4,031
O=HIE2XZAS 4,682
—EXNE=s 2,011,000& %1 2,011
= 1,006
= 402
= 603
—1s=28s 58,5802 x1& =122 703
= 351
= 141
= 21
—ALESEE 79,0002 x1& 123 948
= 474
== 190
= 284
—3878= 85,0002 x1& 123 1,020
= 510
S 204
= 306
OLSSXI WAL IHA 6,345 5,248 1,097
101 @124H| 4,845 3,748 1,097
03 SRA(RIH )22 U2+ 4,845 3,748 1,007
OOtS=SR WAL HE S
2,187,400 x 12 +23] *60% 2,625
OOIE= X WAF HPEF et
165,000& x 1~ 123 1,980
OOtSSRI WAL JIEE
20,0002 x 18~ 122 240
202 048l 1,500 1,500
01 201 1,500 1,500
OOLS=XI DA 23U SF 0t
20,0002 »75& 1,500
AGotsde2gX& 76,432 313,920 A237,488
= 38,216
=S 15,286

&




2A:
X XH -
o e

=aak

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

H

22,930

307 212+01&

Mo

76,432
38,216
15,286
22,930

313,920

N237,488

10 MEISXAIEHER2HHIEX
OAS3HAY
—XEOISHIE J1223H| KIS (4HA)
72,432,000

—XH0tsdlE 23] X2 (1H2)
4,000,000&

oA

Mo A

76,432
76,432

72,432
36,216
14,486
21,730

4,000
2,000

800
1,200

313,920

N237,488

KFotsdE 2l2d] X

MW

299,448
149,724
59,890
89,834

307 212+01™

Mo W

299,448
149,724
59,890
89,834

11 AR S XA E X
O=HIEXZAIY

—XH0tSHIE HESALA 21481 X (9
4) 299,448,000

MW

299,448
299,448

299,448
149,724
59,890
89,834

KGotsdE SZHd XA

Mo W

10,000
5,000
2,000
3,000

10,000

=)
N

402 I2+X}

il
o

0l

[
i

Mo W

10,000
5,000
2,000
3,000

10,000

02 QIZEN 2 AL EZ(0IETHR)

ObsSHIE 22 XI&A(1HL)
10,000,000

10,000
10,000

10,000

10,000
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SN FoIE=D
BH: GESSHLUNALSEHE
tel: QESOISXE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 5,000
=S 2,000
s 3,000
XeotsHE 2 X (2EXJ) (<) 29,061 29,061 0
< 8,718
= 20,343
307 lztol & 29,061 29,061 0
= 8,718
= 20,343
11 AMEISXAIEEES 29,061 29,061 0
OSHIEXZAIS 29,061
—XISOtSHIE! SALAL =& (9E) 23,400
+ AL =& 200,000 x0E ~12& 21,600
& 6,480
Ea 15,120
-dExd 100,000 92 »22| 1,800
= 540
o 1,260
—XIS0tSHIE d, HH] X2 (4H4)
5,661,000 5,661
== 1,698
o 3,963
NSotsde 2SN (&) 16,800 16,800 0
= 3,360
= 13,440
307 elztol & 16,800 16,800 0
= 3,360
Ea 13,440
10 Al SXAZEHE 22X 16,800 16,800 0
OZHIEXZAY 16,800
— XS0t HIE =123 X (4HL)
1,400,000& 1290 & 16,800
[ 3,360
T 13,440
EIA0tSNHE X 50,000 75,000 /25,000
= 5,000
[Ea 45,000
301 LEetE N = 50,000 75,000 225,000
= 5,000
o 45,000
02 ANBI2HHSFS(HAAS, NLHE) 50,000 0 50,000
OZHIEXZAIY 50,000
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SM: FoIE= )
24 . [ HIOI T AS =T
Sa owsoananE 9
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—ElA0lS NEEHS 10,000, 00054452 5,000
= 5,000
Ea 45,000
OLSSXAE2E R 91,450 91,410 40
== 27,750
o 63,700
301 22N 450 410 40
< 450
02 A2 XSG (FHAAHS, NSEWE) 450 0 450
OZHIEXZAY 450
—22350ls A2 450,000 450
S 450
307 gl2to| & 91,000 91,000 0
=S 27,300
s 63,700
1 AMISXAIEEX 91,000 91,000 0
OZHIE XA 91,000
—OtSSXIAIE SALRG +=E(35%) 91 000,000 o1 000
= 27,300
= 63,700
PSS THEXE AL 11,400 11,400 0
=S 3,420
s 7,980
301 EetE2 NS 11,400 11,400 0
== 3,420
[Ea 7,980
02 MBI 2HHSFS(HAANS, XLHE) 11,400 0 11,400
OEHIEEAIS 11,400
—JIEE50ts 248 XA 20,0001+ 524 125 .40
= 1,620
Ea 3,780
—IJIBES0s FE8Hds N 200 00031 52 2 000
& 900
Ea 2,100
—RES0S 121 1A= 2| AlgHl XI&
600,000 1 600
= 180
Ea 420
— =8 ANl X3 > 40000511 > a0
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SA: Fois=)
I OjESHNLUHLSET
&el: RESOISAEX (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 720
s 1,680
NASEOISXIAA (ZH]) 4,800 4,800 0
= 960
Ea 3,840
301 EtE NS 4,800 4,800 0
=S 960
s 3,840
14 0Bt 2as 4,800 4,800 0
OZHIEXZAIY 4,800
—0tS?AY 23H|(249) 4,800,000 4,800
S 960
= 3,840
ASotsEsd20|12 2 71,570 71,570 0
= 35,785
S 7,157
= 28,628
307 glztol & 71,570 71,570 0
= 35,785
< 7,157
[Ea 28,628
11 AMEISXAEEES 71,570 71,570 0
O=HIEXZAIS 71,570
—NS0ISESd=) |2 28X
71,570,000& 71,570
= 35,785
== 7,157
= 28,628
NAotsEsdE0 2 2LXA (<) 2,987 2,987 0
= 897
Ea 2,090
307 gl2to| & 2,987 2,987 0
=S 897
s 2,090
10 Al SXAI2EE 22X 2,987 2,987 0
CHIEXAIE 2,987
—OISEsd=J12 234 N
2,987,000& 2,987
= 897
= 2,090
FR0t 2=Hl X (AMOH) 288,000 336,000 /48,000
301 EtE2 N = 288,000 336,000 48,000
03 A2 E A0S (XL THH) 288,000 0 288,000
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SN FoIE=D
BH: GESSHLUNALSEHE
el RESOSXE X (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
SEEVICETNRE
200,000 x 1208 122 283,000
2SEI0ts NEE 72,000 50,400 21,600
= 57,600
& 4,320
= 10,080
301 LPBNS 72,000 50,400 21,600
= 57,600
= 4,320
= 10,080
01 Al B&X2HZ2(2REETHA) 72,000 50,400 21,600
SETILEIN 72,000
~2STR0IS NP H(153)
400,000& * 15 *123] 72,000
= 57,600
& 4,320
= 10,080
2SE20ts HEHEtEXE XN 10,000 2,000 8,000
& 3,000
i 7,000
301 LPBNF 10,000 2,000 8,000
& 3,000
= 7,000
02 MBI 2EHE S (FHUAHS, NSTHA) 10,000 0 10,000
SHISEAY 10,000
—235320ts HEMEETZ KIA
2,000,000 *5Y 10,000
& 3,000
i 7,000
NEotsESHSI |2 AlelXlg K& 1,170 1,170 0
= 585
& 117
i 468
307 QI2Ho1 M 1,170 1,170 0
= 585
= 117
= 468
10 Al SXAIEHE2ZHIEX 1,170 1,170 0
O=HIEZAIS 1,170
—XS0tSESE2I & delXls K&
1,170,000& 1,170
= 585
& 117
i 468
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o e

=aak

Ofl &F2H

HE
0l &y

HH W

2,000
1,400
300
300

1,000

HoH W

2,000
1,400
300
300

1,000

1,000

1,000,000& x2H

HH W

2,000
2,000

2,000
1,400
300
300

1,000

1,000

H
ol
N
0%
e
0

Ot gl XI&

O
H
fol

HH W

9,000
6,300
1,350
1,350

9,000

MW

9,000
6,300
1,350
1,350

9,000

2
—dEEIE OlsESHl K&

1,000,000& *3&+3&

HoH W

9,000
9,000

9,000
6,300
1,350
1,350

9,000

HOH

5,000
4,000
250
750

8,000

A3,000

Mo A

2,500
2,000
125
375

4,000

A1,500

01 AFS2t2ltl
O E3HAE

—E223 M& S 2,500,000

Mo

2,500
2,500
2,500
2,000

125

4,000

21,500
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SN FoIE=D
BH: GESSHLUNALSEHE
tel: QESOISXE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 375
301 LEtE NS 2,500 4,000 1,500
[ 2,000
= 125
Ea 375
01 Al EE A S (2 RNEEMHA 2,500 4,000 21,500
OdS3 AN 2,500
—2SU40ts Atellzeltl
2,500,000 2,500
= 2,000
= 125
o 375
orssdsSAE=Eg 1,100 1,100
201 2= 1,100 1,100
2 S52g4l 1,100 1,100
OOIS8ill BNy B8E S
1,100,000 1,100
CIEtESsSdE 2l 6.600 0 6.600
201 et23| 6.600 6.600
01 AtR2telHl 6,600 6,600
OZ2teldl 1,100,000 «62 6,600
Cienssde =28 A& 276,692 0 276,692
[ 163,346
= 56,673
Ea 56,673
307 el2to| & 100,692 0 100,692
[ 50,346
= 25,173
= 25,173
10 Al SXAIEEHE 22X 100,692 0 100,692
O S AAE 100,692
—QIABI(HIEHE1Y, AIZHRI3H)
88,692,000 88,692
[ 44,346
= 22,173
o 22,173
—2gdl 14 1,000,000« 128 12,000
[ 6,000
= 3,000
o 3,000
401 AIEHIX 20HH 126,000 0 126,000
[ 63,000
= 31,500
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HMEE
Ofl &k2h

H

31,500

01 Al
O E3HAE

—c|2EE]|
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50,000
50,000
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MW

264,055
197,696
12,356
54,003

258,960
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=LA (Abell2tel MERIA JHA)

MW

264,055
197,69%
12,356
54,003

258,960

5,09

SSEAHIA X2 (EZAEHEXR)

Mo W
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197,69%6
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37,068

246,720
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85,733
77,400
61,920

3,870
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1,250

83,772

1,961
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SA - FE - SRA(3H) - MRAE - BES

Ofl &F2H

HMEE
Ofl &k2h

A H

1,028
3,084

01 AtR2telbl
O=ZHIEXZAIY
—CEAHEMEH 28 ARl
800,000& » 128

150,000« 10

—2HUI R (AR T2)) By

200,000& »12H =32

—CEHAEESAURR

& W=H|

300,000 *3H

700,000& %12
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—= gl 8,000& x3& 40

EIE 2323(HII23 2 38)
300,000& =128

MW MW Mo W MW Mo W

HoH W

HoH W

HoH W

15,460
15,460

9,600
7,680

1,440

1,500
1,200
75
225

900
720

135

700
560

105

960

180
960
768

144
4,600
4,600

3,600
2,880
180
540

14,380

2,800

1,080

1,800
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M CRIAEIEAY
Chel: 2IPAI (A2 HLHH JHA) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
— eyl 500,000 «2& 1,000
= 800
== 50
[Ea 150
03 Ar=EHI 500 500 0
O=HIE XA 500
—Z2Y(AY, Ex, SN2
300,000 %12 300
= 240
= 15
= 45
~SBNE, AR, HESADT
200,000& %12 200
= 160
= 10
o 30
202 048l 4,000 8,040 24,040
= 3,200
= 200
= 600
01 =LHAHI 4,000 8,040 A4,040
O=HI2 XA 4,000
—CEAEIE 2UHGIHl L 2el0i]
20,0003 x4 50! 4,000
= 3,200
= 200
Ea 600
301 Eet2 NS 112,827 113,108 A281
= 90,262
= 5,641
o 16,924
01 Al EE AT S (2 RDEEMRA) 11,227 111,508 A281
GETCEIN- 111,227
~9% 9 D] T2y 2
37,227 ,000& 37,221
= 29,782
= 1,861
o 5,584
—SX 2208 23(938)
37,000,000 37,000
= 29,600
=S 1,850
s 5,550
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2N ZEolg=g)
M CEAREAY
Chel: 2IPAI (A2 HLHH JHA) (o) &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 22X &I 1,800 6,900 A5,100
O=HIE2 XA 1,800
—2AZXA(HT) & ALBA(13])
60,0002 *30& 1,800
= 1,440
= 0
= 270
FoHE OlsSEAMHIA X (EZBAEEXIH) (XA 16,935 12,240 4,69
101 @1A4H| 16,935 12,240 4,69
03 SRA(RIH )22 E S 16,935 12,240 4,69
OOtsSEAtdI2elAl BB L
2,187,400 x3E *23| *60% 7,875
OOtSSSAAIZ2IAL HREX G
165,000& x3&~ 123 5,940
OOtSSEAtdIZ2IAL JIEE
260,000 * 122 3,120
Y I HH|(=LH=n) 68,328 68,328 0
=34 68,328 68,328 0
Jl=3H] 68,328 68,328 0
201 er23| 35,928 36,928 0
01 At2tltl 35,928 36,928 0
ORKNEH 1,831,000& ~16& 29,296
o=l 3,200
—S20HAMHI 8,000 »16& x252 3,200
OSADISXE 3,432
—ZSADI 286,000& x10H* 12 3,432
202 04l 28,800 28,800
01 =LHAHI 28,800 28,800
OZLH0AH] 100,0002 * 162+ 122 19,200
Ozl 75,0002 x16H 8! 9,600
203 =] 3,600 3,600
M EASHLRFAH 3,600 3,600
ORNSgERF=AHI 300,000 * 122 3,600
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